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Ekcnnikauia npumiweHb

n;;n064 HadmenyBaHHs Hna%u,
0111 ldansbHa 67,15
02| 1 PosdsizanbHa X 61,80
03| 1 Nlywoba X 12,60
04| 1 Po3dszansHa M 63,64
05| 1 OQywoba M .26
06| 1 Canbyson M 15,44
07| 1 Canbyson X 15,44
08| 1 | TexHi4He npumiweHHs | 11,27
09 2 Cnanbhs 1 22,91
0] 2 CnanbHs 2 23,16
"2 CnanbHs 3 23,16
1212 CnanbHe 4 23,16
132 CnanbHa 5 23,16
14| 2 CnanbHe 6 23,16
1512 Cnanbha 7 23,16
16| 2 CnanbhHe 8 23,16
17| 2 CnanbHa 9 24,18
18| 2 KyxHs 31,72
192 Canbyson M 8,69
20 2 Canbyson X 10,38
211 2 QywoBa M 9,45
22| 2 Nlywoba X 9,22
23| 2 | TexHi4He NpuMiweHHs L0k
3MH. | K-tmb | /lucm | Nefok. Mignuc | Nama
Po3podub  [kopoBapob IC. 22.01.25 Cmadia | Apkyw Apkyuib
Po3podub
n 1




